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IE4 R6EL ZHISHKR FIK-miHER BERISE(GEOFERE)

B R i By B wE
SHEERRT Y BiE MER 1@ 1,520.0 |[& 7 B i)
SHEERRT Y BiE A 1@ 1,420.0 |[*& 7 B i)
SHEERFT A B Y1 T &0 1@ 1,420.0 |[& 7 B i)
okt 800+800%2,000 1& 108,000.0 |[ & & Hifi]
okt 1,000%1,000%1,500 1& 108,000.0 |[ & & B i)
hEY-IRE B& R R RO HI RO m2 831.0
FREY—b m2 540.0 | [ 7 B fff]
TUh—FK bk M6*L45 x 26.0
EELE S T-25,1000%1000 ff 1Z #£ ) 114,000.0 |[& % Hi{fi]
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nor & TA77I b5 m3 2,300.0 L=2.4km
nor & TR m3 12,100.0
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BEEESEELLTRLIZEDTY,
EEIFES BHDABESKRZEMWE =X 208,108.0
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*— 7 ARH T ® m’ 14. 10
SEELT BEREL W<2. 5m m® 3 3
BiARLT BRERE T W<2. 5m m 11. 10
BEBLT BiAEL W<2. 5m m® 5, 5
FEEERT BLEE  ® m? 133. 130
BimET ErZns t ® m® 100. 100
BEL [BEV— I |BEV—k k| m 133. 130
T
et T FRiEB t ® m 23. 20
H#H R BXEREINKRE | n’ 17. 20
HEERE + ® m? 17. 18
SATITHERE T
1 SHEREE m 58. 59
avyy—+r o ck=18N/mm? m 4. 5
E o\ m? 47. 47
B th#t t=10mm m? 0. 0.5
HEERR RC-40, t=10cm m? 17. 18
HKEEYMT
fEtT FRIEB T ® m’ 353. 350
# R BXEBRIFINKE | o 146. 150
BAEREI b nd 128. 130
R Lavyy-+ ock=18N/mn? | m’ 10. 10
EmEE T ® m? 224. 224
fiET [LEAE]
154y 54— m 54, 55
(10.0m V) 4 =)
avyy—+k ock=18N/mm? | m’ 1.
B OB —hg - R m? 4.
B #h#t t=10mm e 0.
HEERR RC-40, t=10cm | m? 7.
SEERRI 0y BiE mmER ¥ 16.
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E B Al oAl RO® B #=E |HEBE|H &
25/ va— m 4.0 4
(10.0m &) =)
avsy—+k ock=18N/mm? | m’ 1.3
B OB — R - R m? 3.7
B th#t t=10mm m? 0.13
HEERR RC-40, t=10cm | m? 7.1
SEERRI 0y HEEAR VN 16.5
3IBHYaE— m 8.7 9
(10.0m V) 4 =)
avsy—+ ock=18N/mm? | m’ 1.4
B OB —hg - R m? 3.9
B #h#t t=10mm m 0.1
HEERR RC-40, t=10cm | m? 7.3
SEERRI 0y STEUTTFR | A 16.5
1-15UE % m 12.0 12
(10.0m V) =)
B e R AIE 500 % 600 Ed 5.0
m 10.0 762ke/ 1@
HEHRE RC-40, t=15cm | m? 8.5
. 0xXBYHKE)
1vn—ravsy—+r|  gck=18N/mm? m 0.4 0.4
1-25UR ;& m 34.0 34
(10.0mzs Y # =)
B AR EE 500 x 700 Ed 5.0
m 10.0 829kg/ 1@
HEERR RC-40, t=15cm | m? 8.5
Q. 0XBYHF)
Avn—tazsy—tr|  ook=18N/mm? m 1.8 2
1-35UR ;& m 32.0 32
(10.0m& Y # =)
B R AE 500 x 800 Ed 5.0
m 10.0 1064ke/ 18
HEERR RC-40, t=15cm | m? 8.5
Q. 0XBYHF)
Avn—tazvsy—tr|  ook=18N/mm? m 1.8 2




I & # Al oAl RO% B #E | HEHE
1-45UR A% m 77.6 78
(10.0m& Y # =)
B A AE 500 x 900 1@ 5.0
m 10.0 1174kg/1@
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.oxXBYH=)
Avn—tazsy—r|  gok=18N/mm? m’ 3.1 3
1-55UR ;& m 30.7 31
(10.0mzs Y # =)
B i A B 500 x 1000 1@ 5.0
m 10.0 1229k g/ 1@
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(10.0mzs Y # =)
B i A B 500 x 1100 1@ 5.0
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Q.oxXBYH=)
Avn—tavsy—t|  ock=18N/mm? ¥ 0.1 0.1
1-85UE & m 2.0 2
(10.0m& Y # =)
B i B 500 x 1300 1@ 5.0
m 10.0 1683kg/ 1@
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AvnN—tavsy—tr| ogckz18N/mn® | m’ 0.1 0.1
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.oxXBYH=)
AvnN—taxvsy—r|  ogck=18N/mn® | m’ 0.1 0.1
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avy)—+E B500 " 79.0 79 | 361ke/tk
HaEE B500 " 40.0 40 | 80kg/#k
EY/8 [BRIZHT B =K #]
155 E(FEKH #® 1.0 1
avy)—+ ock=18N/mm? | m’ 0.1 0.1
B o — % - R m? 0.9 1
=L SD345 D13 L=200 | kg 2.0 2
BEE%av) Y- EREE L 7 5 m® 0.02 0.02
BlOA $23. L=100 £ 10.0 10
25E EIT&E K = 1.0 1
avoy—+ ock=18N/mm? | m 0.1 0.1
B OB —hg - R m? 1.1 1
ELH SD345 D13 L=200 | kg 2.0 2
BEE%avhY-MERIE L ® B m’ 0.02 0.02
A $23. L=100 k2 10.0 10
35 E LITEKM #® 1.0 1
avy)—+ ock=18N/mm? | m’ 0.1 0.1
B o — % - R m? 1.0 1
=L SD345 D13 L=200 | kg 2.0 2
BEE%av) Y- EREE L 7 5 m® 0.02 0.02
BlOA $23. L=100 £ 10.0 10
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[7° bEva b &K ]
15 &k = 1.0 1
AvnR—tavsy—+r|  gck=18N/mm? m 0.3 0.3
(1LOELYHKS)
7" VR bEE K 800 x 8002000 | # 1.0 2001ke/%
H@aroy—+ ock=18N/mm? | m? 1.4

t=10cm m 0.1
SN2k = Higo LR m? 0.5
HERE RC-40, t=15cm | m? 1.4
BHEY W=300 i 4.0
255Kk H = 1.0 1
fun—tavoy—t| ookz18N/m2 | n’ 0.2 0.2
(1LOELYHKS)
7" VR bEE K 1000 x 1000 x 1500 | # 1.0 2095kg/ %
H@Earoy—+ ock=18N/mm? | m’ 2.0

t=10cm m 0.2
SN2k = Higo R m? 0.6
HERE RC-40, t=15cm | m? 2.0
BHEY W=300 i 4.0
35 &EKH = 1.0 1
fun—tavoy—t| ookz18N/m2 | n’ 0.4 0.4
(1LOELYHKS)
7" VR bEE K 1000 x 1000 x 1500 | # 1.0 2095kg/ %
H@aroy—+ ock=18N/mm? | m’ 2.0

t=10cm m 0.2
SN2k = Higo R m? 0.6
HERE RC-40, t=15cm | m? 2.0
Ritew W=300 F 3.0
[(BRISHT b #rRM]
158 EIFEER #® 1.0 1
avy)—+ ock=18N/mm? | m® 0.1 0.1
B o —f% - R m? 1.2 1
ELH SD345 D13 L=200 | kg 2.8 3
BEE%av) Y- EREE L 7 5 m® 0.08 0.1
Bl A $23. L=100 A 14.0 14
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m 10.0
H@garoy—+ ock=18N/mm? | m? 8.1
t=10cm m 0.8
il =ity o3 HEfEa LR m? 2.0
HERE RC-40, t=15cm m 8.1
BEL
E¥tT FRiEB + ® m® 4.0 4
# R BREREINKE | n 6.6 7
HERE + ® m? 7.8 8
BEL [SEERA IOV Y]
1588 m 28.0 28
(10.0mzs Y # =)
SHEEZER IOV B2, mmR m 10.0
Ed 16.5
HERE RC-40, t=10cm | m? 2.8
258E m 34.4 34
(10.0mz Y # =)
SHEEERIOvY| EARAR m 10.0
Ed 16.5
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HEa>9)—+ o ck=18N/mm2 m 2.6
m 0.3
HEEo VR g LB m? 2.0
3I5&A m 6.3 6
(10. Om24 Y $4.2)
SEEZER IOV STEUVTFR | m 10.0
& 16.5
HEEEavs)—+k o ck=18N/mm? m? 2.6
m 0.3
HEEo VR g LB m? 2.0
15&HR m 1.3 1
iR $S400 t=6mm kg 30. 1 30
Foh—RIL bk M6 L=45 X 2.0 2
FhEEHR T
BE AR B R AR T
[A—FL—] [1IBA—FL—IL m 54.0 54 | *toF
(10. Om 1= Y (&)
H—FKL—L Gr-B-4E m 10.0




I & B Al oAl RO® B #=E |HEBE|H &
ERATEEHRT
ERAMSEYMT RR ba—> H=0. 65m ¥:N 25.0 25
BEYMET
BEMBIZE LT |SHERYIE As&fZE, t=15cmLlF| m 6.8 7
Cofizk, t=15cmLLF| m 74.9 75
SHLEhREE L A%, t=dom | m? 212.9 210
AsEhZE, t=5cm | m? 619. 1 620
Cofi%E, t=10cm | m? 196.6 200
avy)—rEREL B B m’ 90.6 91
% m m® 35.0 35
BN E T RIE As3k m’ 39.5 40
Co (££#5) m® 110.3 110
Cozk (8%H%) m’ 35.0 35
HKEEDRET
Hy 2 —#EE m 53.0 53
SR W500£8 ® 26.0 26 | 76. 1ke/#%
500x500F8 #® 1.0 1| 47. 6ke/#&k
BEBET
SEEERT 1A BREMEmER m 39.3 39
RANE m 27.9 28
YITFER m 11.6 12




T I #% = & i x
FER - #A5 RO -1 = B | #HE tEHE
ERTT
fEEIT By - 1R 14.5+70.9 m’ 85. 4 90
A—7o - 18 3.4+9.9 m’ 13.3 10
(EHI& ) m’ 100
E+T
HERL W<2. 5m m’ 3.4 3
(HEELTEE m’ 3
Bk W<2. 5m m’ 1.6 10
(BIAELT A m’ 10
BEZLT W<2. 5m m’ 5.0 5
(BBEELEED m’ 5
EEEBERIT EtEm m? 133.6 130
BramET
Bty + ® m’ 100.0 100




B OB £ I # 1§
IfE FE 5 AR T8 f REtHE N s &
g+
100 100 90
| 8 | 0.9 100 100 90
PRIETE + 8 | 0.9 20 20 20
BEL 18 18
HEELT T® 3 3
BARLT T® 10 10
BERt ) 5 5
KRERA| & | 0.9 20 20 18
BtmmEt 100 100
2 =T I 8 | 0.9 100 100 92 90+20-18




T ITH=EHEE
w
Al - = B R+ B *—F ot
W OmE|FE K| M OB O|K E| T M| 4
()
NO.
NO. 1 20.00 0.1 0.05 1.0
NO. 1 + 5.07 5.07 0.1 0.10 0.5
NO. 1 + 12.00 6.93 0.05 0.3
NO. 5
NO. 5 + 10. 00 10. 00
NO. 6 10. 00
NO. Ji 20.00
NO. T + 10. 00 10. 00
NO. 8 10. 00
NO. 8 + 5.00 5.00
NO. 9 15.00 0.1 0.05 0.8
NO. 10 20.00 0.1 0.10 2.0
NO. 11 20.00 0.1 0.10 2.0
NO. 12 20.00 0.05 1.0
NO. 12 + 7.53 7.53 0.1 0.05 0.4
NO. 13 12. 47 0.2 0.15 1.9 0.1 0.05 0.6
NO. 14 20.00 0.1 0.20 4.0 0.05 1.0
NO. 15 20.00 0.1 0.10 2.0
NO. 15 + 7.00 7.00 0.05 0.4
& i 239.00 m 14.5 m3 3.4 m3
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Al - = 0 R -+ B *—F ot
W OmE|F K| M OB K @ T M| 8
=)
NO. O
NO. 1 20.00 0.3 0.15 3.0
NO. 1 + 5.07 5.07 0.5 0.40 2.0
NO. 1 + 12.00 6.93 0.25 1.7
NO. 2 8.00
NO. 2 + 12.64 12.64
NO. 3 7.36
NO. 4 20.00 0.4 0.20 4.0
NO. 5 20.00 1.0 0.70 14.0
NO. 5 + 10. 00 10. 00 0.8 0.90 9.0
NO. 6 10. 00 0.3 0.55 5.5
NO. Ji 20.00 0.1 0.20 4.0
NO. T + 10. 00 10. 00 0.1 0.10 1.0
NO. 8 10. 00 0.2 0.15 1.5
NO. 8 + 5.00 5.00 0.2 0.20 1.0
NO. 9 15.00 0.4 0.30 4.5
NO. 10 20.00 0.3 0.35 7.0
NO. 11 20.00 0.3 0.30 6.0
NO. 12 20.00 0.1 0.20 4.0
NO. 12 + 7.53 7.53 0.2 0.20 1.5
NO. 13 12.47 0.2 0.20 2.5 0.2 0.10 1.2
NO. 14 20.00 0.1 0.15 3.0 0.10 2.0
NO. 15 20.00 0.1 0.10 2.0
NO. 15 + 7.00 7.00 0.05 0.4
& i 307.00 m 70.9 m3 9.9 m3
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NO. 5

NO. 5 + 10. 00 10. 00

NO. 6 10. 00

NO. Ji 20.00

NO. T + 10. 00 10. 00

NO. 8 10. 00

NO. 8 + 5.00 5.00

NO. 9 15.00

NO. 10 20.00

NO. 11 20.00

NO. 12 20.00

NO. 12 + 7.53 7.53

NO. 13 12. 47

NO. 14 20.00 0.1 0.05 1.0

NO. 15 20.00 0.1 0.10 2.0

NO. 15 + 7.00 7.00 0.05 0.4

& i 207.00 m 3.4 m3 m3
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NO. 3

NO. 4 20.00

NO. 5 20.00

NO. 5 + 10. 00 10. 00

NO. 6 10. 00

NO. Ji 20.00

NO. T + 10. 00 10. 00

NO. 8 10. 00

NO. 8 + 5.00 5.00

NO. 9 15.00

NO. 10 20.00

NO. 11 20.00

NO. 12 20.00

NO. 12 + 7.53 7.53

NO. 13 12. 47 0.1 0.05 0.6

NO. 14 20.00 0.5 0.30 6.0

NO. 15 20.00 0.25 5.0

NO. 15 + 7.00 7.00

& i 247.00 m 11.6 m3 m3
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eI E I EEIEEE
()

NO. 3

NO. 4 20.00

NO. 5 20.00

NO. 5 + 10. 00 10. 00

NO. 6 10. 00

NO. Ji 20.00

NO. T + 10. 00 10. 00

NO. 8 10. 00

NO. 8 + 5.00 5.00

NO. 9 15.00

NO. 10 20.00

NO. 11 20.00

NO. 12 20.00

NO. 12 + 7.53 7.53

NO. 13 12. 47 0.1 0.05 0.6

NO. 14 20.00 0.1 0.10 2.0

NO. 15 20.00 0.1 0.10 2.0

NO. 15 + 7.00 7.00 0.05 0.4

& i 247.00 m 5.0 m3 m3
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NO. 3

NO. 4 20.00

NO. 5 20.00

NO. 5 + 10. 00 10. 00

NO. 6 10. 00

NO. Ji 20.00

NO. T + 10. 00 10. 00

NO. 8 10. 00

NO. 8 + 5.00 5.00

NO. 9 15.00

NO. 10 20.00

NO. 11 20.00

NO. 12 20.00

NO. 12 + 7.53 7.53

NO. 13 12. 47 1.4 0.70 8.7

NO. 14 20.00 2.6 2.00 40.0

NO. 15 20.00 3.8 3.20 64.0

NO. 15 + 4.00 4.00 3.8 3. 80 15.2

NO. 15 + 7.00 3.00 1.90 5.7

& i 247.00 m 133.6 m2 m2




R R T #BER

& 3l +8 | = ke ERL B =
N C N C
E¥(t+T 370 330 310
T 0.9 370 330
RIEY 7%+ 330
T 330 310 | 330 - 310 = 20




£E X £ I % &8 & & =X

v | | S " BiL | #=E | K£it#=
EEET
KiEB =7, 8 | (EEEI) 20.0
(BEktE&EmI) 350.0
eI 4.0
&t m° 374.0 370
HERL mKXERE (EEET) 20.0
TmR 5t (BEktE&EmI) 150.0
#BEeI) 7.0
&t m° 177.0 180
=KXERME (BektE&EmI) 130.0
Lk dmak i &t m° 130.0 130

(R LA 310




2 B I ¥ 2 & i X
FER - HA5I R O%® = = Hfg| #=E EHE
HES— b EiEE m? 133.6 130




T E I EREE
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Al - 2 Bt
W OmE|FE M| MOE (K@ T M| 4 =
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NO. 3

NO. 4 20.00

NO. 5 20.00

NO. 5 + 10. 00 10. 00

NO. 6 10. 00

NO. Ji 20.00

NO. T + 10. 00 10. 00

NO. 8 10. 00

NO. 8 + 5.00 5.00

NO. 9 15.00

NO. 10 20.00

NO. 11 20.00

NO. 12 20.00

NO. 12 + 7.53 7.53

NO. 13 12. 47 1.4 0.70 8.7

NO. 14 20.00 2.6 2.00 40.0

NO. 15 20.00 3.8 3.20 64.0

NO. 15 + 4.00 4.00 3.8 3. 80 15.2

NO. 15 + 7.00 3.00 1.90 5.7

& i 247.00 m 133.6 m2 m2
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&R - A RO BT HE FrE#E 5 &

<HEEXI>

FR1E B * ® m° 23.5 20
BRL = KIERIE MR 5 m° 17.8 20
EmEE t ® m’ 17.6 18
AEATITHEEE IO

1S REE m 58.8 59
avyy—+ o ck=18N/mm? m° 4.7 5
BB — g - N m? 47.0 47
B ##t t=10mm m? 0.5 0.5
ERwBA RC-40, t=10cm m? 17.6 18
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[BERET ]
fE¥ELTT

R YEB T AERETEEZEL Y

8.3+15.2 m 23.5
HBEREL BXEREINEG | BMHAEZ LY

8.3+9.5 m 17.8

HEEBE T m? 17.6

(151 RE) 17.6




XL IHEHEE BERT)

a1 R#E B BRL(EKERLE WIin)
W m| F # E W m | F # E
(=4
| SEhEk I HEEE 0.3 0.3
NO. 13 + 13.70 0.3 0.3
NO. 14 6. 30 0.3 0.30 1.9 0.3 0.30 1.9
NO. 15 20.00 0.2 0.25 5.0 0.2 0.25 5.0
NO. 15 + 6.90 6.90 0.2 0.20 1.4 0.2 0.20 1.4
= 33.20 m 8.3 m3 8.3 m3




XL IHEHEE BERT)

a1 R#E B BRL(EKERLE WIin)
W m| F # E W m | F # E
(D
| SEhEk I HEEE
NO. 3 + 12.10 0.5 0.3
NO. 4 1.90 0.5 0.50 4.0 0.3 0.30 2.4
NO. 5 20.00 0.6 0.55 11.0 0.4 0.35 1.0
NO. 5 + 0.30 0.30 0.6 0.60 0.2 0.4 0. 40 0.1
= 28.20 m 15.2 m3 9.5 m3




WE BRI 8 E

S

Al . EATTHRET

1 S&hk B

200
a9y —+
o ck=18N/mm2 =

N
ERRA
HERAZ4AOMmLLT
50 200 |50
300
(10. Om& U)

4 1 iR ¥ =1 = i:-Liva H =
avyl)—Fk o ck = 18N/mm? 0.20x0.40x10.0 m 0.80
iy eg — % - pEY 0.40x2x10.0 m? 8.00
B th#f t=10mm av91)—kV/10 m -
EBERA RC-40,t=10cm 0.30x10.0 m 3.00
[{E¥LT]

HEEIE T #® 0.30x10.0 m? 3.00




WE BRI 8 E

R

| S HEEE ERASE
A m R-L E K i
NO. 3+ 12,1 ~ NO. 5 + 0.3 R 25.4 m
NO. 13 + 13.7 ~ NO. 16 + 6.9 L 33.4 m
& 58.80 m




WE BRI 8 E

A

1 S&hk 1 BERE e 3
2 5 & g = Bt | % &

1 S&hE 1 R m 58.8
aveg)—Fk ock=18N/mm> | 0.80 x 58.8 / 10.0 m 4.7
B —fi% - NEY 8.00 x 58.8 /10.0 m? 47.0
B 44 £=10mm 4.70 / 10.0 m? 0.5
A RC-40,t=10cm 3.00 x 58.8 / 10.0 m? 17.6
[{E£+1]
HEEEBIE T ® 3.00 x 58.8 /10.0 m? 17.6




KBEYWINEE G R

&R - BO% By HE STE#HE &5 &

(E%XxXT)

FRiE B + ® m° 353.9 350

R RAIERIE ImK 5 m° 146.8 150

B A RIE ImiA b dmk i m° 128.7 130

1R Lavy)-+ o ck=18N/mm2 m° 10.0 10

EEEIE + ® m? 224.3 224
EEIT)
[LEAAIE]

154y 48— m 54.8 55

(10. Om& Y 5 2)

avsy—+ o ck=18N/mn’ m° 1.4

8o —f% - IR m’ 4.2

B 4t t=10mm m? 0.1

HEBRE RC-40, t=10cm m? 7.3

HEBEERERT 0v) B#E WmR ¥ 16.5

25 Hya— m 4.0 4

(10. Om&% Y #2)

avsy—+ o ck=18N/mn’ m° 1.3

8o —f% - IR m’ 3.7

B 4t t=10mm m? 0.1

HEBRE RC-40, t=10cm m? 7.1

HEBEERERT 0v) HEEAR ¥ 16.5

3BHyE— m 8.7 9

(10. Om&% Y 52)

avsy—+ o ck=18N/mn’ m° 1.4

IO —f% - IR m’ 3.9

B 4t t=10mm m? 0.1

HEBRE RC-40, t=10cm m? 7.3

HEBERERT 0v) HITEUTITA ¥ 16.5




KBEYWINEE G R

R - A OB B 1 HE FFLE#E i &
1-15UR A% m 12.0 12
(10.0m% Y #1=)
B AERAIE 500x600 e 5.0
m 10.0 762kg/ 1@
HEER RC-40, t=15¢cm m’ 8.5
Q. oxXzYHE)
Aon—ravsy—+r | ock=18N/mm’ m® 0.4 0.4
125U A% m 34.0 34
(10.0m% Y #=)
B AERAIE 500x700 e 5.0
m 10.0 829kg/{&
HEER RC-40, t=15¢cm m’ 8.5
Q. oxXzxYH=E)
Aon—ravsy—r | ock=18N/mm’ m® 1.8 2
1-35UR A% m 32.0 32
(10.0m% Y #1 =)
B AERAIE 500x800 e 5.0
m 10.0 1064kg/ 1@
HEER RC-40, t=15¢cm m’ 8.5
Q. oxXzYHE)
Aon—ravsy—r | ock=18N/mm’ m® 1.8 2
1-4SUR A% m 71.6 78
(10.0m% Y #1 =)
B AERAIE 500x900 e 5.0
m 10.0 1147kg/1@
HEER RC-40, t=15¢cm m’ 8.5
Q. oxXzYHE)
Aon—ravsy—+r | ock=18N/mm’ m® 3.1 3




KBEYWINEE G R

&R - MR ] Bify HWE StEHE i =
1-5SURIE m 30.7 31
(10. Om% Y 5 2)
& A B % 500x1000 1 5.0
m 10.0 1229kg/ 1@
BHRA RC-40, t=20cm e 8.5
(1. 0XBYHE)
Aon—ravsy—+r | ock=18N/mm’ m® 1.5 2
1-6SUBEIE m 6.0 6
(10. Om% Y 5 2)
& A B % 500x1100 1@ 5.0
m 10.0 1485kg /1A
BERA RC-40, t=20cm e 8.5
(1. 0B YHE)
Aon—ravsy—r | ock=18N/mm’ m® 0.4 0.4
1-7SURaE m 2.0 2
(10. Om&% Y #52)
& A B % 500x1200 1 5.0
m 10.0 1584kg /1A
BERA RC-40, t=20cm e 8.5
(1. 0XBYHE)
Aon—rkavsy—r | ock=18N/mn? m° 0.1 0.1
1-8SUBaIE m 2.0 2
(10. Om&% Y #52)
& A B % 500x1300 1 5.0
m 10.0 1683kg/ 1
BERA RC-40, t=20cm e 8.5
(1. 0XBYHE)
Aon—ravsy—r | ock=18N/mn? m° 0.1 0.1




KBEYWINEE G R

FER - #ERBl BO% Bify HE STE#HE &5 &
1-9S VR faliE m 1.5 2
(10. Om% Y 5 2)
SNz R 500x1400 1 5.0
m 10.0 1841kg/{@
BHRA RC-40, t=20cm m? 8.5
(NEEDE &)
AonR—ravsy—=r | ock=18N/m m° 0.1 0.1
[aiEz= (RET) ]
vy y—hE B500 ® 79.0 79 | 361ke/#&
EE=E B500 ® 40.0 40 80kg/#
(SRK#I)
[RGB Sk ]
158 EIF &K = 1.0 1
avsy—+ o ck=18N/mn’ m° 0.1 0.1
OB —fig - R m? 0.9 1
EZLH SD345 D13 L=200 ke 2.0 2
BEER2V))- MR L ® m m° 0.03 0.03
AL $23. L=100 =2 10.0 10
25 & EITEKH = 1.0 1
avsy—+ o ck=18N/mn’ m° 0.1 0.1
TR A —fig - R m? 1.1 1
EZLH SD345 D13 L=200 ke 2.0 2
BEER2v))- MR L ® W m° 0.03 0.03
AL $23. L=100 =2 10.0 10
3EE LITEKH = 1.0 1
avsy—+ o ck=18N/mn’ m° 0.1 0.1
TR A —fig - R m? 1.0 1
EZLH SD345 D13 L=200 ke 2.0 2
BEER2v))- MR L ® W m° 0.03 0.03
AL $23. L=100 =2 10.0 10




EKKBEEYMINE £ R
&R - S =i = FFLHE i &

[7° LEva bRk #]
15 &Kkt = 1.0 1
Aon—ravsy—r | ock=18N/mn? m° 0.3 0.3
(1L0EZYHE)
7" UEvAbEEIK B 800 x 800 x 2000 H® 1.0 2001kg/ %
BV U—+ o ck= 18N/mm’ m’ 1.4

t=10cm m 0.1
G =%ilL HEo B m’ 0.5
HERA RC-40, t=15cm m’ 1.4
EHEEY W=300 V. 4.0
25 5k = 1.0 1
Aon—ravsy—r | ock=18N/mm’ m® 0.2 0.2
(1L0EZYHE)
7" UEvAbEEIK B 1000 x 1000 x 1500 H® 1.0 2095kg/ £
BV U—+ o ck= 18N/mm’ m’ 2.0

t=10cm m 0.2
G =%ilL HpgEo B m’ 0.6
EiRa RC-40, t=15cm m? 2.0
EHEEY W=300 V. 4.0
KE=E-V/ Q0 = 1.0 1
Aon—ravsy—r | ock=18N/mm’ m® 0.4 0.4
1L0EZYHE)
7" UEvAbEEIK B 1000 x 1000 x 1500 H® 1.0 2095kg/ £
BBV U—+ o ck= 18N/mm’ m’ 2.0

t=10cm m 0.2
G =%ilL HRgEo B m’ 0.6
EiRAa RC-40, t=15cm m? 2.0
EHEEY W=300 ¥ 3.0




KBEYWINEE G R

&R - BO% By HE STE#HE &5 &
[(RIFIT B HEM]
158 LITHEMN = 1.0 1
avsy—k o ck=18N/mn’ m° 0.1 0.1
BB —fig - R m? 1.2 1
EZLH SD345 D13 L=200 ke 2.8 3
BEER2v))- MR L ® B m° 0.08 0.1
AL $23. L=100 =2 14.0 14
[E]
M ME T-6, 300 x 4008 ® 3.0 3| 15 1ke/#&
2RI FEE
110° BAEA, 88
T-25, 500 x 700F8 ® 1.0 1| 52 6ke/#&
2RI FEE
110° BARA, 1R%EH
T-25, 800 x 800, Z#H ® 1.0 1| 114, 4kg/#%
T-25, 1000 x 1000, 12 H ® 2.0 2 | 144 2kg/#k
(BRI)
[y ) — FERE
15EE ¢ 600 m 9.6 10
(10.0m& Y 3 £)
BEHaLy ) —rARE | ¢600 & 5.0
m 10.0
H#aroy—+ o ck=18N/mn’ m’ 8.1
t=10cm m 0.8
G =%ilL HRgEo B m’ 2.0
HEBRE RC-40, t=15cm m? 8.1




% T I B 2 & &t %

#E Al oAl B|O% Hii | #HE |KiHHE
[(HEKEBEWMT]
EEXET
FRiE YB T FIRETEE LY
18. 9+335 m° 353.9 350
BREL R | mmatEELyY
6. 4+140. 4 m° 146.8 150
SRERE | mimEsy . 128.7 130
1R Lavy)-+ | ock=18N/mm2| BliEstEZ LY m° 10.0 10
HEEZIE 8 15Hv45-) 39.7
EHvAE—) 2.8
BEHYE—) 6.3
(1-12UEA1%) 10. 2
(1-25UE@lE) 28.9
(1-33UEl:E) 27.2
(1-43UEAIE) 66.0
(1-565UE al:E) 26. 1
(1-6SUE aI:E) 5.1
(1-75UEA1E) 1.7
(1-8=SUE aI:E) 1.7
(1-9=5UE ;&) 1.3
(15 &K#H) 1.4
(25 & K#Ht) 2.0
(3F&EKH) 2.0
(15EER) 1.9
m’ 224.3 224




XL IHEFHEE BIKEEY D)

- K1z B BRL (GKERLE Win)
W m | T 1 # E W m | F 15 # E
(=4
NO. 12 + 2.50 0.4 0.1
NO. 12 + 7.53 5.03 0.4 0.40 2.0 0.1 0.10 0.5
NO. 13 12. 47 0.3 0.35 4.4 0.1 0.10 1.2
NO. 14 20. 00 0.3 0.30 6.0 0.1 0.10 2.0
NO. 15 20.00 0.2 0.25 5.0 0.1 0.10 2.0
NO. 15 + 7.30 1.30 0.2 0.20 1.5 0.1 0.10 0.7
= 64.80 m 18.9 m3 6.4 m3




XL IHEHEE BIKEEYTD)

- K1z B BRL (GKERLE Win)
W m | T 1 # E W m | F 15 # E
(D
1, 25 UE A%
NO. 5 + 1.70 3.0 0.3
NO. 5 + 10.00 8.30 3.0 3.00 24.9 0.3 0.30 2.5
NO. 6 10. 00 2.6 2.80 28.0 0.2 0.25 2.5
NO. 1 20.00 2.6 2.60 52.0 0.2 0.20 4.0
NO. 7 + 10.00 10. 00 1.9 2.25 22.5 1.5 0.85 8.5
NO. 8 10. 00 2.0 1.95 19.5 1.4 1.45 14.5
NO. 8§ + 5.00 5.00 2.0 2.00 10.0 1.4 1.40 1.0
NO. 9 15.00 2.4 2.20 33.0 1.8 1. 60 24.0
NO. 10 20. 00 1.8 2.10 42.0 1.1 1.45 29.0
NO. 11 20. 00 1.7 1.75 35.0 1.0 1.05 21.0
NO. 12 20. 00 0.5 1.10 22.0 0.9 0.95 19.0
NO. 12 + 7.53 1.53 0.3 0. 40 3.0 0.5 0.70 5.3
NO. 13 12. 47 0.9 0.60 1.5 0.25 3.1
NO. 14 20. 00 0.7 0.80 16.0
NO. 15 20.00 0.9 0.80 16.0
NO. 15 + 4.00 4.00 0.9 0.90 3.6
= 202.30 m 335.0 m3 140.4 m3




XL IHEHEE BIKEEYTD)

Al K

H
v

BRL(GKERLE Im=W4m)

#BRLaYYY—Fk

W m | T 1 # E W m | F 15 # E
(D
1, 25 UE A%
NO. 5 + 1.70 1.8
NO. 5 + 10.00 8.30 1.8 1.80 14.9
NO. 6 10. 00 1.5 1.65 16.5
NO. 1 20.00 1.6 1.55 31.0
NO. 7 + 10.00 10. 00 0.80 8.0
NO. 8 10. 00
NO. 8§ + 5.00 5.00
NO. 9 15.00
NO. 10 20. 00
NO. 11 20. 00
NO. 12 20. 00
NO. 12 + 7.53 1.53 0.3 0.15 1.1
NO. 13 12. 47 1.2 0.60 1.5 0.1 0.20 2.5
NO. 14 20. 00 1.1 1.15 23.0 0.2 0.15 3.0
NO. 15 20.00 1.2 1.15 23.0 0.1 0.15 3.0
NO. 15 + 4.00 4.00 1.2 1.20 4.8 0.1 0.10 0.4
= 202.30 m 128.7 m3 10.0 m3




HEKXKEBEEYIH=E=TEEZE
2Rl AET
15hHy4—
675
50_18023 400
49
g| 2 (%i#8) \ 6. ob
NS SIS e r
2 / N
(k) U S
BEILEIL
EBRE S h—
BERAEIOMMLUT E&Z1J8N/ml~m2
) 675 =
125
(10.0m& v)
£ 1 53 B =1 = ==X M =2
avyl)—+r o ck=18N/mm? {1/2 x (0. 226+0. 25) x 0. 40+0. 166 x 0. 275} x10.0 | m® 1.4
o —f% - NEY (0. 166+0. 25) x10.0 m 4.16
B tth44 £=10mm a1 —RV/10 C10mskis et £ LALY) m -
HEERAa RC-40, t=10cm | 0.725%10.0 m 7.25
SEBEERT Ay BfE mmmR 10.0=0. 605m/A V.3 16. 50
K ey
HEEF T ® EMBRAELRLC m? 7.25




KRKESEYWIBREFHES

15hva— ERAE
Al = R-L E R
NO. 12 + 5.0 ~ NO. 12 + 11.0 L 6.0 m
NO. 12 + 122 ~ NO. 14 + 4.7 L 32.8 m
NO. 14 + 8.7 ~ NO. 15 + 4.7 L 16.0 m
a i 54.8 m




HEKXKEBEEYIH=E=TEEZE

15Hv4— XL Y%=

£ 5 R g = Bt | &% 2

15hHy4— m 54.8

avyy—tr ock=18N/mm> | 1.41 x 54.8 / 10.0 m 7.7

EIL —fi% - NEY 4.16 x 54.8 / 10.0 m? 22.8

B 4+ t=10mm 7.7/ 10.0 m? 0.8

BEHERA RC-40, t=10cm | 7.25 x 54.8 / 10.0 m? 39.7

SHEEERT 09 B#E Wm@ER 16.50 x 54.8 / 10.0 PN 91.0
(E¥+T]

HEEEBIE T ® 7.25 x 54.8 / 10.0 m? 39.7
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2Rl AET
2EHy R —
660
50 400
X 210
SEEER IOV
HEEEAR
(% &) 6.0%
o USIS/l ==
) 04 S
HEILAIL
ERBE 95—k
ﬁiﬁ#‘E%%mmuT 1 660 UJ«;18N/mm2
710
(10.0m& v)
£ 1 iR ¥ =1 = ==X H =

avyl)—+r o ck=18N/mm? {1/2 x (0. 226+0. 25) x 0. 40+0. 116 x 0. 26} x 10.0 m 1.25
o —f% - NEY (0. 116+0. 25) x 10.0 m 3.66
B tth44 £=10mm avH )—RV/10 Cx10mkiEEt £ LAY m -
Hwa RC-40, t=10cm | 0.710x10.0 m 7.10
SEBEERT Ay HilEAH 10.0=0. 605m/A X 16. 50
K ey
HEEF T ® EMBRAELRLC m? 7.10




KRKESEYWIBREFHES

25 vE— ERRZ

A = R-L E K

NO. 14 + 4.7 ~ NO. 14 + 8.7 L 40 m

op
ul

a 40 m




FEKBEEYWIH=EGdEE
25 H v R — (1LY %)
% 71 FRIE =1 = B | # 2
25 H v e — m 4.0
avhy—+k ook=18N/mn? | 1.25 x 4.0 / 10.0 m® 0.5
BB — i - INEY 3.66 x 4.0 / 10.0 m? 1.5
B Hukt t=10mm 1OMRBDT=DEH LAY, m? -
HEBRA RC-40, t=10cm | 7.10 x 4.0 / 10.0 m? 2.8
HEEERT 1Y) HEEAR 16.50 x 4.0 / 10.0 P/ 7.0
K ey
HEEFE + ® 7.10 x 4.0 / 10.0 m? 2.8
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675
65 210 . 400
SEEBERIO VY
SHERABYTTR
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EBBE Shy—
125
(10.0m& v)
2 {7 BOO® g = ==Xy B =
avy)—+k o ck=18N/mm? (0. 25x 0. 40+0. 14 x 0. 275) x10.0 m 1.39
B OB —fi% - NEY (0. 14+0. 25) x10.0 m? 3.90
B tth44 £=10mm a1 —RV/10 C10mskis et £ LALY) m -
HEERAa RC-40, t=10cm | 0.725x10.0 m? 7.25
SHEBEHER Ay | HTEYVTER | 10.0+0. 605m/& & 16. 50
K Ja
HEEF T ® EMBAELRLC m? 7.25




HFEKBEEWVWIHRE

i

3ZHvE— ERAE
A m R-L E K fi&
NO. 12 + 2.5 ~ NO. 12 + 5.0 L 3.7 m
NO. 15 + 4.7 ~ NO. 15 + 1.3 L 5.0 m
A F 8.7




FEKBEEYWIH=EGdEE
A vE— (1LY %)
% 71 FRIE =1 = B | # 2
3IEHvE— m 8.7
avsy—+hk ook=18N/mn? | 1.39 x 8.7 / 10.0 m® 1.2
BB — i - INEY 3.90 x 8.7/ 10.0 m? 3.4
B Hukt t=10mm 1OMRBDT=DEH LAY, m? -
HEBRA RC-40, t=10cm | 7.25 x 8.7 / 10.0 m? 6.3
SEBEER 0 | $TEYTFFR | 16.5 x 8.7/ 10.0 ~ 14
K Ja
HEEFE + ® 7.25 x 8.7/ 10.0 m? 6.3
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2Rl AET
1-15UE a5
500
324 1 — kE (B500) .
& A EEB500M) .
1 £ W B 5% [ [
B500 =
AN
A nR—kavsy—¢
o ck=18N/mm2 <
HEILAZIL
D4 !
~ v Al
EERE
BERARIOMUT
5 750 5
850
(10. Om& U)
£ o1 HO® g = ==X H =
BB AERAE 500x600 10.00 / 2.00 SEEE:762kg/E & 5.0
m 10.0
G B500 AR EETEEET L #® -
HEERa RC-40, t=15cm 0.85x%10.00 m 8.5
(1.0m% Y)
fon—ravsy—+r| gok=18N/mn? | 0.5xt m’ 0.5t
[YE¥LT]
HEEIF T ® 0.85x%x10.00 m 8.5




KRKESEYWIBREFHES

1-1SUEE ERAE
Al = R-L E K
NO. 10 + 85 ~ NO. 11 + 0.7 R 1220 m

op
m

a 120 m




HFEKBEEWVWIHRE

i

1-15VEAIE

& & | Avn—ftassu—h
A A TR
t | wm | T8 % B | wE  TFH % E
(a8
NO. 10 + 8.5 0. 054 0.03
NO. 10 + 11.0 2.48 0. 064 0.03 0.030 0.07
NO. 11 8. 86 0.068 0.03 0.030 0.27
NO. 11 + 0.7 0.67 0. 062 0.03 0.030 0.02
} 12.01 0.36
&t 3
m m
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1-1S U8 A& gy Y #H=)
% 71 FRIE =1 = B | # 2
1-12UEEE m 12.0
B i A B S 500x600 5.0x12.0/10.0 SEES 762keg/@ & 6
m 12.0
fE= B500F A#EBMEHEEST L " —
EBRA RC-40, t=15cm | 8.5x12.0/10.0 m 10.2
fon—tavsy—t| gck=18N/mm’* | BIEREtEE LY m® 0.4
K Ja
HEEFE + ® 8.5%12.0/10.0 m? 10.2
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ock=18N/mm2 <
BEILZIL
7 10
N o] Al
EHBA
BERAR4IOMMLUT
5 750 5
850
(10. Om& U)
£ o1 HO® g = ==X H =
BB AERAE 500x700 10.00 / 2.00 SEEE:82%g/E & 5.0
m 10.0
G B500 AR EETEEET L #® -
HEERa RC-40, t=15cm 0.85x%10.00 m 8.5
(1.0m% Y)
fon—ravsy—+r| gok=18N/mn? | 0.5xt m’ 0.5t
[YE¥LT]
HEEIF T ® 0.85x%x10.00 m 8.5




HFEKBEEWVWIHRE

i

1-25 U8 ;& ERFE
b = R-L E K fis
NO. 9 + 4.1 ~ NO. 10 + 8.5 R 2.0 m
NO. 11 + 0.7 ~ NO. 11 + 10.8 R 10.0 m
& i 34.0 m




HFEKBEEWVWIHRE

i

125081

& & | Avn—travsy—h
A A 12
t wE | FH K B | mE | FH | % B
(4 18)
N. 9 + 41 0.055 | 0.03
NO. 10 15.65 | 0.119 [ 006 | 0.045  0.70
N. 10 + 85 839 | 0154 008 | 0070  0.59
N. 11+ 0.7 0.162 | 0.08
No. 11 + 10.8| 10.02| 0066 | 0.03| 0055 | 055
] 34.06 1.84
&t -
m m




KRKESEYWIBREFHES

1-25 U8 A& gy Y #H=)
% 71 FRIE =1 = B | # 2
1-28UB A& m 34.0
B i A B S 500x700 5.0x34.0/10.0 SEE= 82%eg/@ & 17
m 34.0
fE= B500F A#EBMEHEEST L " —
EBRA RC-40, t=15cm | 8.5x34.0/10.0 m 28.9
fon—tavsy—t| gck=18N/mm’* | BIEREtEE LY m® 1.8
K Ja
HEEFE + ® 8.5%34.0/10.0 m? 28.9
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2Rl AET
1-35UE {8
500
3> 41— k& (B500) -
(8 5.7 ZB500/) R
B e R i [ [
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N
A n—kavsy—k
ock=18N/mm2 =
BEILZIL
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~ oo Al
EBRE
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850
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£ o1 HO® g = ==X H =
BB AERAE 500x800 10.00 / 2.00 SEZE2:1064kg/{E & 5.0
m 10.0
G B500 AR EETEEET L #® -
HEERa RC-40, t=15cm 0.85x%10.00 m 8.5
(1.0m% Y)
fon—ravsy—+r| gok=18N/mn? | 0.5xt m’ 0.5t
[YE¥LT]
HEEIF T ® 0.85x%x10.00 m 8.5




HFEKBEEWVWIHRE

i

1-35 VR A& ERFE
b = R-L E K fis
NO. 7 + 19.8 ~ NO. 9 + 4.1 R 2.0 m
NO. 11 + 10.8 ~ NO. 11 + 18.9 R 8.0 m
& i 32.0 m




KRKESEYWIBREFHES

1-35 VR

& & | Avn—travsy—h
A A 12
t wE | T8 BB
(4 18)
N. 7 + 19.8 0.053 | 0.03
N. 8 + 5.0 514 | 0082 | 004 0035 018
NO. 8 + 15.0 9.87| 0.117 [ 006 | 0050 049
NO. 9 493 | 0138 | 007] 0065 032
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KRKESEYWIBREFES

15ELIFHEHR &%) (I Y#E)

% a1 R " = By | & &
15ELIFHEHR £ 1.0
avyl—+t ock=18N/mm? | 0.09 x 1.0 m® 0.1
BB — & - R 1.17 x 1.0 m? 1.2
RS T-25,500x 700 | 1.00 x 1.0 SEZE 252 6kg/ M 1.0

2mARIL FEE

110° FARA, HR#EE

=L SD345 D13 L=200( 2.79 x 1.0 ke 2.8

BEE%av)-MEREE L 0.08 x 1.0 m® 0.1

Al A $23. L=100 14.00 x 1.0 fl 14.0
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KEEVMIHRE

R

SEkmT
15 &Km
. FEE (A—ABE’.EE) (B—BE*TTE)
i\ Fi\ i Stbo0 o . %ﬁm .
‘\‘ a\%' ‘\ | EL=52.344 | ‘ EL=52.344 :

e \1 ******* l“* 1-65 VR % ‘ 1-95URI ‘ } LH g
,,,,,,,, O I A \ N
7772%7@ﬁ577 75177 1-95 U uii o 7 L § BRI (6600) J } ! N E

‘l EL=51.221 ‘ o iﬁ* : — \;fjs%ooiii
el I : I 1] H : ]
EY F P ) E M( ) ( g
B=1080
(1.0FEZY)
4 o1 iR % g = Bi{1 H 2
7° iy AMEE K #t 800 x 800 x 2000 SEZEE:2001kg/ & H 1.00
Avri—tavsy—+| gok=18N/mn’> | 0.80x0.80x0.506 m’ 0.32
HEFEa o) —Fk o ck=18N/mm? 1.18x1.18 m 1.39
t=10cm 1.39x0.1 m 0.14
SNl = b8 I EiILY ] 1.18x0.10x4 e 0.47
fhaip= T-25 800 x 800 SEES 114 dkg/# b5 1.00
ZAEH
HEE%a RC-40, t=15cm 1.18%1.18 e 1.39
BEEY W=300 X 4.00
(E¥+T]
HEEEIF T ® 1.18%1.18 m 1.39




KRKESEWIBREFES

15 Sk #t RERFTMEAE

Al = R-L E B

NO. 12 + 10.9

1.0

op
ul




KRKESEWIBREFES

15 &K Ht X5y #2)

£ W R =1 = Hig | &% =

15 &K # 1.0

77 Ly A MEE K #t 800x800x2000 | 1.00 x 1.0 5EE2:2001kg/&E . -8 1.0

tvn—tavsu—r| gok=18N/mm? | 0.32 x 1.0 m’ 0.3

HEBEar )—br | ock=18N/mm> | 1.39 x 1.0 m? 1.4

t=10cm 1.4 x 0.10 m 0.1

M=tk HpgEa LR 0.47 x 1.0 m 0.5

mEm= T-25 800 x 800 1.00 x 1.0 SEES 114 dkg/# 54 1.0
Z4H

iR RC-40, t=15cm 1.39 x 1.0 m? 1.4

EHEEY W=300 4.00 x 1.0 P 4.0

[fE%LT]

EMEBIE T ® 1.39 x 1.0 m? 1.4




FKBEEWIHRE

R

SEkmT

\ | FEHE
\ \
25 5K #t \ F
\1000
a0
oo W \\%‘ )
]
1a } E ,ﬂg -
(A-AMF E) | | (B-BIFE)
EL=53. 62 I \Bﬁt{_“%\ | EL=53. 62
[ [ I I [ [
O 10 T |
o T 4 o T P I
(%) il i = |
Avri—tavyy—t 7 H 2 8 5 E;%Q% _ J/ 7 H — 3
B=1300 (1.0&% 1Y)
4 o1 iR ¥ g = Bi{1 H =
7° iy AMEE K #t 1000 x 1000 x 1500 SEZE5:2095kg/ & H 1.00
Avri—ravsy—+r| o ck=18N/mm? .00x1.00x0.185 m° 0.19
HE#Ea2 9 )—b | ock=18N/mn’ .40x1.40 m? 1.96
t=10cm .96x%0.1 m 0.20
SNl = b8 I EiILY ] .40x0.10x4 e 0.56
fhaip= T-25 1000 x 1000 SEES 144 2kg/# b5 1.00
ZAEH
HEE%a RC-40, t=15cm .40x1.40 e 1.96
BEEY W=300 X 4.00
(E¥+T]
EEEIE + ® . 40x1.40 m? 1.96




HFKBEEWIHRE

R

25 5Kk #t

RERFTMEAE

Al

m

fi&

NO. 5

a

(I3

op

5 1.0

#




KRKESEWIBREFES

25 K i X5y #2)

2 L A g = B | &% 2

25 &Kkt .- 1.0

7 LEvAbSEKHE [ 1000 1000x 1500 1.00 x 1.0 SEZEF8:2095kg/ & = 1.0

tvn—tavsu—r| gok=18N/mm? | 0.19 x 1.0 m’ 0.2

HEBEar )—br | ock=18N/mm> | 1.96 x 1.0 m? 2.0

t=10cm 2.0 x 0.10 m’ 0.2

@ LR HpgEa LR 0.56 x 1.0 m 0.6

EEL T-25 1000 1000| 1.00 x 1.0 SEEE 144 2kg/K ® 1.0
% B

HHERAE RC-40, t=15cm | 1.96 x 1.0 m’ 2.0

EHEEY W=300 4.00 x 1.0 P 4.0

[fE%LT]

EMEBIE T ® 1.96 x 1.0 m? 2.0




KRKESEWIBREFES

SEkmT

KE=3- /L7

w
63
MApE s
T-25, 1000x7000, FEEH
N ——— ‘
\ \
\ \ B
| i S
(13 | | Al
- ‘ | 1esumEE |
[H (| 1 I Y | ] 7 o
(A-ABfTTE) (B-Bif @)
8 8
AUNE 1000 B EETE 3 1000
T-25, 1000xT000, M L T-25, 1000x1000, MAEH
LA bk T v R b ok
EL=53. 184 EL=63. 184
I | | I
-
A 1-6B UR W ‘"ﬂ g
[N } all
/( $ )\ PH g
(\ 7/ g 1882 (4600 ‘ } A 8 s
‘ \ ek —7 L_EL=52.100 i
\ et=s1-s50—/ [ | EL=51. 950 [
‘ H EL=62.100 EL=52. 100 ‘ ‘ i
3 3
4yn—kavsy—k W H N A= kavsy—k ‘ H N
T ok= T8N/nm2 [ o ok= 18N/m2 el
( g ) a g
avoy— avyy—
o ok=18N/mm2 o ck=18N/nn2
Py RHRE BHRE W-300
BEREEAOMELT 5 R E 0L .
B+100 B+100

B=1300

(1.0&58Y)

I ]

M #B

1 =X

#w B

7° bivA SR K #t 1000 x 1000 x 1500 SEES:2095kg/ £ 1.00

4on—ravsy—r| gok=18N/mm’ 1.00x1.00x 0. 401 0.40

HEEavoy—+F o ck=18N/mm® 1.40x1.40 1.96
t=10cm 1.96x0.1 0.20

E N =iz Hpga LR 1.40%x0.10x 4 0.56

e T-25 1000 x 1000 SEES 144 2kg/# 1.00
ZHEH

iR RC-40, t=15cm 1.40x1.40 1.96

EHEY W=300 3.00

[E%+T]

HmEEIE T #® 1.40x1.40 1.96




HFKBEEWIHRE

R

KE=3- /L0

ERAE

Al

m

fi&
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a

(I3
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5 1.0
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KRKESEWIBREFES

KE=E-9/ ¢ (IRXLY#=E)

C B =1 =X Hig | &% =

KE=3-/ 0 H 1.0

7" U¥vAbEE KBt | 1000 x 1000 x 1500 1.00 x 1.0 SEZEF8:2095kg/ & = 1.0

tvn—tavsu—r| gcok=18N/mm? | 0.40 x 1.0 m° 0.4

HEBEar )—br | ock=18N/mm> | 1.96 x 1.0 m? 2.0

t=10cm 2.0 x 0.10 m 0.2

il ik = HE@a B | 0.56 x 1.0 m? 0.6

mEm= T-25 1000x1000| 1.00 x 1.0 SEES 144 2kg/# 54 1.0
ZHH

iR RC-40, t=15cm 1.96 x 1.0 m? 2.0

EEEY W=300 3.00 x 1.0 PN 3.0

[fE%LT]

EMEBIE T ® 1.96 x 1.0 m? 2.0




£ ™ "% =1 Fa =2} =1
[SEk#HT]
By e T-6, 300 x 400 (15& L IFEKH) 1.0
25KV FEE (8% £ IF&EKH) 1.0
110° FARA, #EE (38 & £ IF&EKH) 1.0
SEEE:15. 1kg/#K ] 3.0
T-25, 500 x 700F8 (185 £ ITHEEM) ] 1.0
25KV FEE SEEE 52 6kg/#K
110° BARA, 2% H
T-25 800 x 800 (15&%KkH) SEEE: 114 dke/#K ® 1.0
ZHH
T-25 1000 x 1000 Q%K) BSEEE: 144 2kg/K 1.0
ZHH (35 & Kk#H) 1.0
® 2.0




HEKXKEBEEYIH=E=TEEZE
Rl BET
15EE (¢$600)
oI V—LERE
HEILAIL
\N
EMaL o y—k % ! (H S
ock=18N/mm2 2
HEERA
BERAFRIOMLT
810
(10.0m& v)
2 5 BOO® g = ==Xy B =
AR -METE ® 600 10.0 / 2.0 x 5.00
m 10. 00
HEEavoy—+ o ck=18N/mm2 0.81x10.0 m 8.10
t=10cm 8.1x0.1 m 0. 81
SNk = -8 I EiLY ] 0.10x2x10.0 m 2.00
HEERa RC-40, t=15cm 0.81x%x10.0 m 8.10
[E¥E+T]
HEEIF T ® 0.81x10.0 m 8.10




KRKESEYWIBREFHES

15EE ($600)

ERAE

Al

m

L E K

fi&

NO. 5

+ 1.1 fhk

9.6 m

op
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B 9.6 m




KRKESEYWIBREFHES

15EE ($600) e XL Y%=

£ 5 R g = Bt | &% 2

15EE ($600) m 9.6

eIV - RE ¢ 800 500 x 9.6 / 10.0 X 5.0

10.00 x 9.6 / 10.0 m 9.6

HE@Ea o )—k| ock=18N/mm2 | 8.10 x 9.6 / 10.0 m? 7.8

t=10cm 0.81 x 9.6 / 10.0 m 0.8

Eil ik HpEo LR 2.00 x 9.6 / 10.0 m? 1.9

BEHERA RC-40, t=15cm 8.10 x 9.6 / 10.0 m? 7.8
(E¥+T]

HEEEBIF T ® 8.10 x 9.6 / 10.0 m? 7.8




A ILH =&

—

ha[1]]]

FERI - HA ]HO® =
(fE¥LT)
PRiE B rA—T - 8 4
BREL BAIE R I 7
HEEEIF + ® 8
GHEERER IOV
18R 28
(10. Om& V) #2)
SEERRIOYY BiE, ™mmR
HEERa RC-40, t=10cm
2E58BA 34
(10. Om& V) #2)
SEERRIOYY HilEAH
HE@aoyy—F o 28=18N/mm?
HpgEa B ¥LER
3IEBA 6
(10. Om& V) #2)
SEERRIOYY HITEUTITH
HE@aoyy—F o 28=18N/mm?
HpEa B ¥LER
s2BR 1
4R $S400 t=6mm 30
7oh—HRIL k M6 L=45 2




fF % £ I # & & i =%
i | b | R O® = = Hi| #E | £58E
fFEAaIl
F¥ELTT
RIEB + ® RRETEEZE LY m’ 4.0 4
BRL |[BxeExREmss BEtEZELY m’ 6.6
HEEEIE + ® m? 7.8
=2 -2 7.8




XL IHEFHEE BIKEEY D)

a1 N & Jﬁ_ﬂ FRiEB EHRL (&KERLIE W<im)
) BBy m| | %8 |(mE| TR %
()
(18,25, 38@E)
NO. 8 + 10.20 0.1 0.1
NO. 9 10. 00 0.1 0.10 1.0 0.1 0.10 1.0
NO. 10 20.00 0.1 0.10 2.0 0.1 0.10 2.0
NO. 11 20.00 0.05 1.0 0.1 0.10 2.0
NO. 11 + 15.80 15. 80 0.1 0.10 1.6
&t 65.80 m 4.0 m3 6.6 m3




BB I H=EGTEE
Rl . &AL
15&8
180
SEEERIO VY
Bi&, mmR
3 (%38) 83
o / / —
(0 2
ERRA HBEILZIL
BERAFEAOMUT
50 230
280
(10. Om& U)
4 o iR ¥ g = {1 H =
HEHEBERERT Ay) B¥## mmR m 10. 00
10.0m / 0. 605m/A & 16. 50
HEE%a RC-40, t=10cm 0.28 x 10.0 m 2.80
(fEx+T)
HEEI T ® 0.28 x 10.0 m 2.80




A IHEHES

15%&8 ERFE
pi = R-L E K
NO. 9 + 8.1 ~ NO. 10 + 16.4 L 14.4 m
NO. 11 + 0.4 ~ NO. 11 + 13.8 L 13.6 m
& i 28.0 m




A IHEHES

15&A8 r&%:1 I8 YHE)

5 W R C o B | & E
15&%R m 28.0
SEERRT 0) Bi2 mimR 10.00 x 28.0 / 10.0 m 28.0
16.50 x 28.0 / 10.0 & 47.0

ERa RC-40, t=10cm 2.80 x 28.0 / 10.0 m? 1.8

QL Sl )

EMEBIE T ® 2.80 x 28.0 /10.0 m? 1.8
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HEmEANH
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N ﬁ 2
/ i
E#EEaH9)—+
UcT(Z%N/mmZ BELZ N
50 210
260
(10.0m4 v)
% o1 iR % g = B ® 2
SEEERT 1y HElEAH m 10. 00
10.0m / 0.605m/& & 16. 50
HEEaroy—+ (I(:kZ]SN/mm2 0.26 x 10.00 m 2.60
0.26 x 0.10 x 10.00 m 0.26

k-0 PRI}

++

HLER 0.20 x 10.00 m? 2.00
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ERAE
R-L TR
NO. 10 + 2.2 L 0.4 m
NO. 11+ 0.4 L 40 m
& = 34.4 m




A IHEHES

25%A I&%:1 I8 YHE)

5 W R C o B | & E
25%A m 34.4
SEBERRT 0Y) HEEAR 10.00 x 34.4 / 10.0 m 34.4
16.50 x 34.4 / 10.0 & 57.0

B2 )—bk | ock=18N/mm® | 2.60 x 34.4 /10.0 m? 8.9
0.26 x 34.4 /10.0 m® 0.9

HEEa U BR LR 2.00 x 34.4 /10.0 m? 6.9
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260
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SEEER A | HTEUVTIFH m 10.00
10.0m / 0. 605m/A & 16. 50
HE@Ea o )—Fk 0 28=18N,/mm’ 0.26 x 10.00 m 2.60
0.26 x 0.10 x 10.00 m 0.26
b8 I EiILY ] ¥LER 0.20 x 10.00 e 2.00
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R-L E K
8 + 12.2 L 3.3 m
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SEEER Oy | STEBUTIFA | 10.00 x 6.3 / 10.0 m 6.3
16.50 x 6.3 / 10.0 & 10.0

E#aro)—+k | o28=18N/m’ | 2.60 x 6.3 / 10.0 m? 1.6
0.26 x 6.3 / 10.0 m® 0.2

HEEa U BR LR 2.00 x 6.3 /10.0 m? 1.3
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BREMRAYF
HIfL ¢ 6.4 L=30
= |
- ; Y
| _ N
W6 L=45 L |
ARESR A YT
HlFl ¢ 6.4 L=30 M, m)
1285
$S400 t=6mm
AELE SR o & HDZ50
(1.0%mTHY)
% o1 iR % u = oy —
I $S400 t=6mm | 0.492x1.30x 47. 1kg/m2 ” =0

FohA—RIL b M6 L=45 (HIFL ¢ 6.4 L=30) ¥:N 2.0
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1EBH EEHE

A = R-L E K

NO. 12 + 11.0 ~ NO. 12 + 12.2 L 1.3 m

H 1.3 m
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nl




fh E Mt T % & & &5t &
R - HEA OB BfL neE TLE=E & &
[R5 L]
15H—FL—1 m 54.0 54 THHA
(10.Omz V) #12)
A—FKL—L Gr-B-4E m 10.0
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\
(10. Om& 1))
5 W ] 5 X AR

H—FL—i

Gr-B-4E
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fFEMIBEFES

15— FKL—JL ERFAE
Al =1 R-L £ K
NO. 12 + 120 ~ NO. 15 + 6.0 R 54.0 m
& i 54.0 m




BB AAREESR IHE SR

Hein s

AR - A S Eif # ST ERE &

[ERfEYT]

RRX ka—> H=0. 65m ¥ 26.0 26




ERMMERERSERI =82
2Rl ERAEYI
RA Fa—Y
— i
% 7 p3 B g = B | % 2
ARA ka—> H=0. 65m V. 1.0




ERMEREEKTI BEFES

R ba—> REERBHE
Al = R-L E K
NO. 3 + 144 ~ NO. 4 + 3.8 L 9.0 &
NO. 4 + 79 ~ NO. 4 + 14.1 L 12.0 &
NO. 5 + 1.0 fhiE L 50 K
& i 26.0 &




BEVREIRESHE

% 71 537} ¥ =1 = B | #1 2 | 3=
<FEEPEUEL I
SRR B Astfizk BEHER LY
t=15cmLLF 6.8 m 6.8 Ji
CoffiE BEHER LY
t=15cmA T 26. 0+6. 9+9. 0+33.0 m 74.9 75
SHEERREIE L AsEhsE, t=4om | RBIfEEtEE LY m’ 212.9 210
Astfizt t=bom | BRIMFEEZLY m? 619. 1 620
Cogfisk, t=10cm | RI#EItEZ LY m? 192.1 190
Iv9)-MEREE L ® 5 RIfKEtEE LY
70. 4 70. 4
BARIUEL BiE. WE@ER)
0.05 x (32.0+7. 3) 2.0
BAREUEL EANE)
0.03%27.9 0.8
BARREL WITITERD
0.03x (2.7+2.7+2.5+3.7) 0.3
Hys—HiEL
0.2x53.0 10.6
S HEEEEIE L
0.08x33.4 2.7
Ast m’ 86.8 87
% B EEL Y m’ 34.0 34
BRI AsEy 212.9x0. 04+619.1x0. 05 m’ 39.5 40
Cosk (E#5) 192.1x0.1+86. 8 m® 106. 0 106
Cowk (8k#5) 34.0 m’ 34.0 34




BEVREIRESHE

% W BO®% = = B | & 2 | StEHE
<HEIKEEDEBED
Hw s —#HE BEHERELY m 53.0 53
EigE W500F8 BEHERELY
12+14 L3¢ 26.0 26
SEEE:76. 1kg/#
500x500 BEHERELY L3¢ 1.0 1
SEEE 47 6kg/#
EBERBEI
SEEER 1yEE BiE il mR BEHERELY
32.0+7.3 m 39.3 39
FEANED HMEMERLY m 27.9 28
YT IFER BEHER XY
2.7+2.7+2.5+3.7 m 1.6 12




BEVREIHEFES

225 Y — MMEEMERE L
Al 2B = A
W om| T B % B W Y =
(1)
NO. b + NO. 5+10.0 0.3
NO. b + 6.00 0.3 0.30 1.8
NO. 6 10. 00 0.4 0.35 3.5
NO. Ji 20.00 0.3 0.35 7.0
NO. T + 10. 00 0.2 0.25 2.5
NO. 8 10. 00 0.3 0.25 2.5
NO. 8 5.00 0.2 0.25 1.3
NO. 9 15.00 0.2 0.20 3.0
NO. 10 20.00 0.1 0.15 3.0
NO. 11 20.00 0.1 0.10 2.0
NO. 12 20.00 0.6 0.35 7.0
NO. 12 7.53 0.4 0.50 3.8
NO. 13 12.47 0.5 0.45 5.6
NO. 14 20.00 0.4 0.45 9.0
NO. 15 20.00 0.5 0.45 9.0
NO. 15 4.00 NO. 15 0.5 0.50 2.0
(BHE-7 o RER)
NO. NO.9 0.2
NO. 10. 90 0.2 0.20 2.2
NO. 10 19. 60 0.1 0.15 2.9
NO. 11 19.70 0.1 0.10 2.0
NO. 11 3.30 NO. 11 0.1 0.10 0.3
253.50m 70.4 m3




BEVREIHEFES

oV ) — FEEYMEIEL

W 2 2O s S8

) BB
W m|F ¥ B E | W # B

(D

NO. &6 + 11.40 NO. 6 0.4

NO. 6 9.50 0.4 0. 40 3.8
NO. 6 + 6.00 NO. 7 0.4

NO. 7 14.00 0.4 0. 40 5.6
NO. 7 + 10.00 10. 00 0.4 0.40 4.0
NO. 8 10. 00 0.4 0.40 4.0
NO. 8 + 0.30 1.40 NO. 8 0.4 0.40 0.6
NO. 8 + 7.40 NO. 8 0.4

NO. 8 + 14.00 6. 60 NO. 8 0.4 0. 40 2.6
NO. 10 + 7.80 NO. 11 0.4

NO. 11 + 3.30 21. 40 NO. 11 0.4 0. 40 8.6
NO. 11 + 15.30 NO. 12 0.5

NO. 12 9.50 NO. 12 0.5 0.50 4.8

= 82.40 m 34.0 m3




BEVREIHEFES

SHERREE L
Aoa | R E| oms AsEEE (t=4om)
S ER R ¥ =
(Z18))
NO. 8 + 10.20 NO. 9 .06
NO. 9 9.80 .06 1. 060 10.4
NO. 10 20.00 .26 1.160 23.2
NO. 11 20.00 .26 1. 260 25.2
NO. 11 + 15.80 15.80 NO. 11 .26 1. 260 19.9
NO. 12 + 2.50 NO. 12+7. 53 .26
NO. 12 + 7.53 5.03 .26 1. 260 6.3
NO. 13 12. 47 .94 1. 600 20.0
NO. 14 20.00 2.15 2.045 40.9
NO. 15 20.00 2.63 2.390 47.8
NO. 15 7.30 7.30 NO. 15 2.63 2.630 19.2
130.40 m 212.9 m2




BEVREIHEFES

SHUEIREREE L
A& | R E| oms CoghE (t=10cm)
N OE|E M| M OB | E| T M| M OE

(1)
NO. 5 + 11.40 NO. 6 2.49
NO. 6 8. 60 2.49 2.490 21.4
NO. Ji 20.00 0.54 1.515 30.3
NO. 7 + 10.00 10. 00 0.55 0. 545 5.5
NO. 8 10. 00 1.69 1.120 11.2
NO. 8 + 5.00 5.00 3.99 2.840 14.2
NO. 9 15.00 1.995 29.9
NO. 10 20.00 2.76 1. 380 27.6
NO. 11 20.00 1.22 1.990 39.8
NO. 12 20.00 0.610 12.2

=51 128.60 m 192.1 m2 m2




BEVREIHEFES

SHUEIREREE L
| 2B e AshE (t=5cm)
B a
W om| T 4| % B Y =

NO. 71.49
NO. 20.00 8.90 8.195 163.9
NO. 5.07 5.07 9.25 9.075 46.0
NO. 12.00 6.93 4.625 32.1
NO. 2 8.00
NO. 2 12.64 12.64
NO. 3 7.36
NO. 4 20.00
NO. 5 20.00
NO. 5 10. 00 10. 00
NO. 6 10. 00
NO. Ji 20.00
NO. Ji 10. 00 10. 00
NO. 8 10. 00
NO. 8 5.00 5.00
NO. 9 15.00
NO. 10 20.00
NO. 11 20.00
NO. 12 20.00
NO. 12 7.53 7.53 6.15 3.075 23.2
NO. 13 12.47 5.91 6.030 75.2
NO. 14 20.00 5.90 5.905 118.1
NO. 15 20.00 5. 81 5. 885 117.7
NO. 15 7.30 7.30 NO. 15 5. 87 5.870 42.9

307.30m 619.1 m2
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